1. (i) “% X

|

e L T
2 5 6

P

» miw
b2 [

U'IJDJ
mIH

3

5

[Using associative property]
ﬂfi_l)+5
3 6) 2

[Using distributive property]

_3(-4-1) 5
“5[ 6 )+2

(-3Y 1 2 1 3
Wl — ShEiy, ™ s k],
[?)+uﬁ5 6 2
[Using associative property]
b (-3 -1) 1
==X|—4— ==
S 7 14) 4

- [Using distributive property] |
_Ex(‘5+1},1 B W e

5 14 45144
i SR s

7 4 28 28
2. We know that additive inverse of a rational

number £ jg [ —2 . 5] i e
3 15[ ; ],suchthatb +( 2
W
is —.
E ;

(i) Additive inverse of 4
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[ECPESTEAE
-5, 5
(ii) Additive inverse of 5 is o
-6, —6

(iti) Additive inverse of = is —

2
(iv) Additive inverse of —_% is o
19, 19

(v) Additive inverse of - is 3

3. (i) Putting x =% in—(—x)=x,

(_E)_ll 11 11

15)°15 — 15 15
= LHS = RHS
Hence, verified.
() Putting x =-%m—(-x)=x,
-13)| _-13
Helw
-13  -13
= 17 17
= LHS =RHS
Hence, verified.

4, We know that mlﬂtip]icﬁﬁve irlwerse of a rational
number a is [l) , such that a X = =1.
P L
-1
(i) Multiplicative inverse of =1315 73~

13, -19
(ii) Multiplicative inverse of T3 15 o

1
(iii) Multiplicative inverse of e 5.

Scanned by Cﬂﬂﬂmnﬁﬂr

Senniid with Cavdcn nmed



i -5 =3 15, b6
w i i 1 1 — —— e — —
(iv) Multiplicative inverse of = X ==tz Is 7
- 5
(v) Multiplicative inverse of =1 H-E—E =-g is 7
(vi) Multiplicative inverse of —1is _l=-'L

5. (i) 1is the multiplicative identity.
(i) Commutative property.
(iif) Multiplicative inverse property.
-7 _ —lb

6. The reci ok e
reciprocal of ¥ is—

According to the question,
R
Bl /) 9
7. By using associative property of multiplication,
ax{bxey=(axb)xe
8. Since multiplicative inverse of a rational number 2
is(l], faxs=t,
a a
8 1y 8 =9
= =] == —==]
'Ihtrefure,gx[ ]B] 9:-: 5
But its product must be positive 1.

£ Thmfnm,g is not the multiplicative inverse of

[_1%],

9, Since multiplicative inverse of a rational number 4

is[l}ifuxlﬂ.
fvi a

i 3 .10
T — =1
Therefore, ﬂ.EHEE Iﬂx
e Therefore, Yes 0.3 is the multiplicative inverse of
£ 1
1Ii|- 3:_!-'1-
: 10. (i) The rational number that does not have a
'S recipracal is 0.
| g (ii) The rational numbers that are equal to their
r | reciprocals are 1and —1.
(iii} The rational number that is equal to ils
negative is 0.
11. (i) Neo (i) 1,-1
i -1
(i) = |

(iv) x
(vi Rational namber
(vi) Positive
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E— e o . e S

HEIE,ME-?E.
oA Hereiﬂz——rl:=-5ﬂndﬂzlg
11 11
-1 D
w o oo B

U109 87 6-5-4 3 2 1 g

——a_—_—-._————_._-.__

3. Five rational numbers whi mall
i hich are g er

F e

4. Given Iz!l:iana.lnumbersarejandl,
Here, L.C.M,-‘.}fﬁ-andl?rislﬂ.ﬁ ’
: '-EHE_—% 1.5 5

- (i) Givmraﬁma}numbers s||1-.=.-‘—r'=m|u:iE
- g
L-C-Mnfz;andsisls, A 5
] 5 10 4
i P 3 12
375" 15 M pxsa o

ol 60 I5 4 60
weral:mtlall'lumhers bemaen—%and'

142 43 44 4

60 E.l}'m-‘ﬁirﬁnq

Scanned by CamScanner

Senniid with Cavdcn nmed



] . -3 5
(ii) Given rational numbers are == and =

L.C.M. of 2 and 3 is 6.

. Five rational numbers between _—23— and 2 are
-8 -7 1 2
666’6

l (iii) Given rational numbers are %1 and %

L.C.M. of 4 and 2 is 4.

111t

471 4 2
18 8 .28 16
A Pug® O ] P B8

B g m TN T ek

11

. Five rat_innallnuﬁ'.bers between 1 and 5 are

9 10 11 12 13
32°32"32732"32
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. Five rational numbers greater than —2 are :

-3 -1 1
? =1, ? r ﬂ, E
[Other rational numbers may also be possible]

. The given rational numbers are E and g

L.C.M. of 5 and 4 is 20.

3 4 12
—_—— =
574 20
3.5 15

R, e
475 20
. 12 8 9%
— Y —
AsAM 20787160 .

15 8 120

x_'___

s 2078 160 |
Ten rational numbers between % and % are :
97 98 99 100 101 102 103 104 105 106

160”160 160" 160" 160" 160" 160" 160" 160" 160
|

and
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g Exercise 2.1

. Xx—2=7
= x—-2+2=7+2 [Adding 2 both sides]
= x=9 '

. Yy+3=10

= Yy+3-3=10-3 [Subtracting 3 both sides]
— y:'}"

. 6=2z+2
= 6-2=2z+2-2 [Subtracting2both sides]
= 4=z
? z=4
17
7 RS
3 3 1F .3, T
=5 x+;——§ = 5 [Subtrachng;buth sides]
- x=l?—3
7
= :s:=E
7
= x=2
. B =12
- x 12 i
6= & [Dividing both sides by 6]
x=2
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6. L-10

5
= 55 x 5=10 % 5 [Multiplying both sides by 5]
2x

= t =50

=18
3

=3 % x3=18 x 3 [Multiplying both sides by 3]
& 2% =183
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2x  18x3 ividing both sides 1«
. z_ 2 [Dividing both sideg b}'q
_ x=27

v |
8. 16=72 E
1.6x1.5= J x15 |
= HX1l.o= 15 i |
[Multiplying both sides by li
= 2.40=y ]
Y y=2.4ﬂ : :
9. 7x -9=16 | |
= 7x-9+9=16+9 [Adding 9 both _sides'li'
=4 7x=25
. 7x 25 = |
7 = [Dividing both sides by

= X :-%?

7

10, l4y-8=13

. 4y 51 . [Adding 8 both s:dﬂ:
= My n |
14 14  [Dividing both sides by B
= y:.g i
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_§=13 ; !
10, 14y -8 .y [Adding 8 both Sidey

14y _21 [Dividing both sides by 1

11. 17 +6p =9

=17 +6p-17=9-17
[Subtracting 17 from both 51des

= 6p =—8 .
= 6; = _68 [Dividing both sides by 6
= T
P 3
B =7
15
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— gExercise 2.2 gt

{, Let the number be x.

: — |
hcmrdmg to the questmn, E [x e 12) =_]§

1
- 29{1( -—J='1—HE

2 2) 8
. 1[Mﬂ-lll'|:‘11;:-ll:.=irngI:u:utl-l sides by 2]
— I_-E=E
11 I 1 X o1
— X 2+2_4:+2 [ﬁddmgbnthsldesi]
4 (o112
ol
= s
4

Hence, the required number is E

2. Let the breadth of the rectangular pool (b)=x m.

Then, the length of the pool (I)=(2x + 2)m
Perimeter of the pool =2(I +b)

= 154=22x+2+%) -
3 154 2(2x+2+x)
E r-. 2 i L (e
[Dividing both sides by 2]
= 77=3x+2
= 77 -2=3x+2-2
[Subtracting 2 from both sides]
= 75=3x
75 3x
= el S
. G &
[Dividing both sides by 3]

= 95=x = x=25m
Length of the pool = 2 +2=2x25=50+2=52m

- Hence, the length of the pool is 52 m and breadth1s
25 m,
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3. Let each of equal sides of an isosceles triangle be
X cm.

Perimeter of a triangle = Sum of all three sides

2 4
= g2
15 3+x+x
62 4
i +2x
15 3
62 4 4 4
=3 o8 St 8 oy
15 3 3 3
. [S-ubtracﬁng %fmm both sides]
62—20
=2x
- 15
42
=0
= 2+ 1h
42  2x
E 15x2 2
[Dividing both s1des by 2]
7
—_x
- 5
2
= x=] T cm
Hence, each equal side of an isosceles triangle is
1— cm.
5 o ———

Scanned by CamScanner

Senniid with Cavdcn nmed



4, Sum of two number =95

Let the first number be x, then another number be
x +15.

According to the question,
 x+x+15=95
P— 2x+15=95
=4 2x +15-15=95-15
[Subtracting 15 from both sides]

=> 2x =80 B

2 B
= 5 [Dividing both sides by 2]
= x =40

So, the first number =40 and another number
=40 +15="55 '
Hence, the two numbers are 40 and 55.
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5. Let the two numbers be 5x and 3x.

According to the questmn,
Sx —3x =18
= =18
e’ 2x _ 18
2 2
[Dividing both sides by 2]
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= - x=9
Hence, first number =5x9=45 and second
number =3 x 9 =27,
. Let the three consecutive integers be x, x +1 and
xX+2 |
According to the question,

X+x+1+x+2=51

— 3x +3=>51
SN 3x+3-3=51-3
[Subtracting 3 from both sides]
— 3x =48
3x 48
= e
3 3
[Dividing both sides by 3]
= x=16

Hence, first integer =16, second integer =16 +1=17
and third integer =16 +2=18.
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7, Let the three consecutive multiples of 8 be x, x + 8

L

and x +16.
According to the question,
xX+x+8+x+16=888
. 3x+24=888
= 3x +24-24=888-24
[Subtracting 24 from both sides]
= 3x =864
5 3x _ 864
3. 3 ¥ i
- [Dividing both sides by 3]
= x =288

Hence, first multiple of 8 =288, second mulﬁple of
8=288+8=296 and third multiple
8 =288 +16=304.

of
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8. Let the three consecutive integers be x, x +1 and

x+2 |
According to the question,
2x+3(x+1)+4x+2)=74
= 2x+3x+3+4x+8=74

=> 9x +11=74
oy 9x +11—11=74—11
[Subtracting 11 from both sides]
= 9.1: — '63
_ 9 _63
9 9
_[Dividing both sides by 9]
ST | =y
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Hence, first integer =7, second integer =7 +1=§
and third integer =7 +2=9.

9. Let the present ages of Rahul and Haroon be
Sx years and 7x years respectively.

According to the question,
(5x +4)+(7x+4)=>56
=% 12x +8=>56
=3 12x +8—-8=56—38
[Subtracting 8 from both sides]
= 12x =48
12x 48
- 2 -
[Dividing both sides by 12]
= x=4

Hence, present age of Rahul =5x 4 =20 years and
present age of Haroon =7 x 4 =28 years.
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10. Let the number of girls be x.
Then, the number of boys =x + 8.

According to the question,
x+8 7
x5
= T x+8)=7x
= bx +40=7x
— ox —7x =—4(
[Transposing 7x to LHS and 40 to RHS]
= —2x=-40
s —2x —40
-2 =1
e : —[E[;ﬂdmg both sides by —2]

Hence, the nump PR
e erof girls=20ang number of boys
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11. Let Baichung’s age be x years, then Bﬂiﬂhung’ 5
father's age (x+29) years and Baichung;
granddaughter’s age = (x +29 + 26) = (x + 55) years,
According to condition,

X+x+29+x+55=135
3x+84=1_35
= 3x+84-—84=135—84

[Subtracting 84 from both sides]
3x = 51

U

J
(%
)
U

=3

[Dividing both sides by 3
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13.

3 x =17 years

Hence, Baichung's age =17 years, Baichung’s
father's age =17 +29= 46 years and Baichung's
Eranddaughl:er’s age = 17 +20+26=72 years.

et Ravi’s present age be x years.

After fifteen years, Ravi's age = 4x years.
Fifteen years from now, Ravi's age = (x +15) years.
According to the question,
dy =x+15
4x — x =15 [Transposing x to LHS]
dx =15 |
3 _15
3 3
[Dividing both sides by 3]
= x =5years '
Hence, Ravi's present age be 5 years.
Let the rational number be x.
According to the question, -
h & =

I

U

U

2 12

"2 12
Sxx12=-15%2
60x =-=30
60x —30
60 60
[Dividing both sides by 60]
-1

== ¥ =—
2

Hence, the rational number is =%

IR
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14, Let number of notes be 2x, 3x and 5x.

According to the question,

100 % 2x + 50 x 3x +10 x 5x =4,00,000

= 200x +150x + 50x = 4,00,000

= - 400x =4,00,000

- 400x _ 4,00,000
B 400 400
| _ [Dividing both sides by 400]

= x =1000
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15.

Hence, number of denominations of ¥ 100 notes
=2x1000=2000

Number of denominations of ¥ 50 notes
=3 x1000=3000

Number of denominations of ¥ 10 notes
=5x1000=>5000

Therefore, required denominations of notes of
¥100, ¥50 and ¥ 10 are 2000, 3000 and 5000

respectively.
Total sum of money =% 300

Let the number of T 5 coins be x, number of 2
coins be 3x and number of ¥1 coins be

160 — (x + 3x) =160 — 4x.
According to question,
5x x + 2 % (3x)+1 x (160 — 4x) =300
5x + 6x +160 —4x =300

——

=5 7x +160=2300
= - 7x +160-160=300-160
[Subtracting 160 from both sides]
7x=140
- 7x 140
= 7 7
[Dividing both sides by 7]
= | x=20 :
Hence, the number of coins of ¥ 5 denomination
_- ation =3x20=60

Number of coins of T 2 denomin
—160-4x20
Number of coins of X 1 denomination = e

- el
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16. Total sum of money =< 3000

Let the number of winners of X 1ﬁ[} be x.
And those who are not winners =63 —x
According to the question,

100 % x + 25X (63 — x) = 3000

=5 100x + 1575 — 25x = 3000
= 75x +1575= 3000
= 75x +1575—1575 = 3000 = 1575
[Subtracting 1575 from both sides]
= 75x =1425
- 75x . 1425
75 75 -
[Dividing both sides by 7]
= T x=19

Hence, the number of winner is 19.
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1. 3x=2x+18
= 3x —2x=18
= x=18
To check :
3x=2x+18
= 3x18=2x18+18
= 04=36+18
=5 ~ b4=54
= LHS =RHS
Hence, x =18 is correct result.
2. 5t —3=3t _5 o
= ot —3t=-5+3
=3 - 2A==2
= t=:E=--1
2
To check
5t—-3=3t-5
= d9X(-1)-3=3x(-1)-5
=5 —-5-3=-3-5
=% —-8=-8
= - LHS =RHS

Hence, t =— 1 is correct result.
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3. 5x+9=5+3x

— 5x—3x=5-9
= 2x =—4
. T
2
To check
" 5x+9=5+3x
=  9X(-2)+9=5+3x(-2)
SN ~-10+9=5-6 |
=% -1=-1
—— LHS = RHS
Hence, x =— 2 is correct result.
4. 42+ 3=6+2z 7
=% 4z —2z2=6-73
= a8 -
- o
2
To check :
2 4z+3=6+2z
3 3
== 4X—+3=6+2x—
2 2

=5 2%X3+3=6+3

Scanned by CamScanner



= | 6+3=9
— 9=9
= LHS = RHS

: 3 ' A
Hence, z = z is correct result_._

2x—1=14—x

= . 2x+x=14+1
= " Bx=1be
'Tochéck: Y

= 2x—1=14—x
= 2x5-1=14—-5
= 10-1=9

=5 9=9

=4 " LHS = RHS

Hence, x =5 is correct result.



6. 8x +4=3(x-1)+7

= Sx_3x=—3+7—4
= 5x=g
=—=0
= X 5
To check
= 8x0+4=30-1)+7
= 0+4=3x(-1)+7
— 4=-3+7
= 4=4
=3 LHS = RHS
Hence, x =0 is correct result.
7. x==(x+10)
5

= Sx=4x+10)
= ox =4x + 40
=5 : 51—&‘}::4{]
= x=40
To check :.

x=—-§(x+10)
= 40:—:-'(4u+10)
= 40=~§>:50
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— 40=4x10

— LHS = RHS
Hence, x =40 is correct result.
.%£+1=Z£+3
3 15 |
2x 7x
——=3-1
~ 3. 15
N 1[}3:—-71:_2
15
= 3x =30
30
=—=10
= x 3
To check :
2x 7x
—4l=—4%3
3 11515
2x10 7 x10
= 3
=% 2 +1 =
= —239+1=E+3
20+3 14+9
= 3 3
2 _2
B 3 3
— LHS = RHS

Hence, x =10 is correct result.
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= LHS = RHS

7
Hence, y =5 s correct result.

-31+:4*1=5:'1|*r—E
2
=% 3m—5mz_—§
5
= —21".'1:_—B
5
. e
T 5x(-2)
— Wz—E
5
To check :
8
3m=5m—— ..
m=>5m .
4 4 8
X—=5X=——
B IXG=IXE 5 -
12 8
L2
K T
12 20-8
= —
5 5
I
5> b
=5 LHS = RHS
Hence, m =% is correct result.
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1. (a) Simple curve

M.

(1)

~
-

(6) 7)
(b) Simple closed curve

N

(1) @ 2
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) ¢

(6) 7)
(c) Polygon

(1) @ )
(d) Convexpolygon e

@
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(e) Concave polygon

(1) 4)
2. (a) A convex quadrilateral has two diagonals.

Here, AC and BD are two diagonals.
| D

l‘-

(b) A regular.hexagon has 9 diagonals.
Here, diagonals are AD, AE, BD, BE, FC, FB,
AC, EC and FD.
- E

(c) A triangle has no diagonal.
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3. Let ABCDis a convex quadrilateral, then we draw a
diagonal AC which divides the quadrilateral in two

triangles.

ZA+B+Z£LC+ 4D
=1+ L6+ 45+ L4+ 23+ L2
=(L1+ L2+ £3)+(L4+ L5+ £L6)
=180° +180°
[By Angle sum property of triangle]
= 360°

Hence, the sum of the D

measures of the angles of
a convex quadrilateral is
360°. '

Yes, if quadrilateral is not
convex  then, this A B
property will also be -

applied.

Let ABCD is a non-convex
quadrilateral and join BD,
which also divides the
quadrilateral in  two
triangles.

Using angle sum prope
of l'riangls. dii
In AABD,

L1+ Z£2+ £3=180° (1)
In ABDC, Z4+ 25+ £6=180° ..(1i)
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-
Adding eq. (i) and (ii),
L1+ L2+ 23+ L4+ 25+ £6=36
= L1+(L3+ L4+ L6+(L2+ £5)=3g)
= LA+ LB+ ZC+ 4D =360°

Hence proved.
4. (a) Whenn=7, then

Angle sum of a polygon = (n — 2) x180°
=(7 — 2)x180°
=5 x180°=900°

'(b) Whenn=8§, then |

Angle sum of a polygon = (1 — 2) X 180°
=(8-2)x180°
= 6 x 180°=1080"

(c) Whenn=10, theh

Angle sum of a polygon =(n—2) x 180°
=(10-2)x180°

=8 x180°=1440°

(d) Whenn=n, then
'Angle sum of a polygon = (1 —2) X180° g
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5. A regular polygor: A polygon having all ;
equal length and the interior angles of equa]
known as regular polygon.

(i) 3sides

Pnlygﬂn haﬂﬂg ﬂ'lI'EE sides is called a ﬁiﬂﬂglg_
(ii) 4 sides

Polygon having four sides is called a quadrilater;
(iii) 6 sides

Polygon having six sides is called a hexagon.

6. (a) Using angle sum property of a quadrilatera],
\

dﬁg 0
312153'1EI

50° +130° +120° + x = 360°
300° + x = 360°
x =360° - 300°
x =60°
erty of a quadrilateral,

=
—
=

{b) Uﬁmg angle sum prop

i'._

(b)

gﬂ“*{'ﬁﬂﬁ +70° 4 y = 360°
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=5 220° 4 x = 360°
= x =360° - 220°
= x =140°

(c) First base interior angle =180° —70°=11¢°
Second base interior angle =180° — 60°=120°
There are 5 sides, n=>5

Angle sum of a polygon =(n —2)x180°
=(5-2)x180°
=3 x180° =540°

30° + x +110° +120° + x = 540°
260° + 2x = 540°
2x = 540° — 260°
2x = 280°
x =140°
(d) Angle sum of a polygon =(n—2)x180°
=(5-2)x180°
=3 x180°
= 540°
X+x+x+x+x=>540°
= S 5x = 540°
= x =108° | 1
Hence, each interior angle is 108°. (d)
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7. (a) Since sum of linear pair angles is 108°.

90°
)\
90° + x =180°
= x =180° —90°=90°
And z +30°=180°
=5 z =180° - 30°=150°
Also y=90°+30°=120°
[Exterior angle property]

% + 1+ = 90° +120° + 150° = 360°
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(b) Using angle sum property of a quadrilateral,

60° + 80° +120° +n = 360°

=25 260° +n = 360°
—= n=360°— 260°
= n=100°
Since sum of linear pair angles is 180°.
w +100°=180° (1)
x +120°=180° ..(i1)
y+80°=180° ..(iii)
z + 60°=180° ..(1v)

Adding eq. (i), (ii), (iii) and (iv),
= x+y+z+w+100°+120°+80° + 60°

=180° +180° +180° +180°
=X +Yy+2z+w+360°=720°
= x+y+z+w=720°-360°
= x+y+z+w=2360°
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1. (i) Given AB=4.5cm, BC=5.5cm,

cD =4cm, AD =6cm, AC=7 cm

To construct : A quadrilateral ABCD

Steps of construction :

(a) Draw AB =4.5cm.

(b) Draw an arc taking radius 5.5 cm from
point B.

(c) Taking radius 7 cm, draw another arc
from point A which intersects the first
arc at point C. |

(d) Join BC and AC.

(e) Draw an arc of radius 6 cm from ﬁnint A
and draw another arc of radius 4 cm
from point C which intersects at D.

(f) Join AD and CD. ,
ABCD is the required quadrilateral.

D

4 cm

6 cm 5.5 cm
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(i) Given: JU=3.5cm,UM =4cm, MP =5cm,
Pi=45cm, PlI=65¢cm '

To construct : A quadrilateral JUMP

P b cm _A’L\"i

/
6.5 cm

4.5 cm 4 cm

J

3.5 cm

Steps of construction :

(a) Draw JU = 3.5 cm.

(b) Draw an arc of radius 45 cm taking
centre ] and then draw another arc of
radius 6.5 cm taking U as centre. Both
arcs intersect at P.

(c) Join PJ and PU.

Scanned by CamScanner

Senniid with Cavdcn nmed



(d) Draw a arc of radius 5 cm and 4 cm
taking P and U as centres respectively,
which intersect at M.

(e) Join MP and MU.
JUMP is the required quadrilateral.

(iii) Given:OR=6cm,RE=4.5cm,EO =7.5cm
To construct : A parallelogram MORE.
Steps of construction :

(@) Draw OR = 6cm.
(b) Draw arcs of radius 7.5 cm and radius

45 cm taking O and R as cenires
respectively, which intersect at E.

(c) Join OE and RE. |
(d) Draw an arc of 6 cm radius taking E as

centre. : e
w another arc of 4.5 cm radiud
o gifing O as centre, which intersects at
M.
(f) Join OM and EM.
MORE is the required parallelogram.

M
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(iv) Given : BE =4.5cm,ET = 6cm
5

To construct ;: A rhombus BEST.

| Steps of construction :
(a) Draw TE = 6cm and bisect it into two
equal parts.
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" (b) Draw up am:l d::rwn pEIpEI‘ldJCulars
e ho T -

(c) Draw twcr arcs Df 45 cm talung E
and T as centres, which intersect at

S.

(d) Again draw two arcs of 45 cm
taking E and T as centres, which

intersects at B.
(e) Join TS, ES, BT and EB.
BEST is the required rhombus.
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| EXBECISE 8. | g
{ ] SpEEd of cycle = 15 kﬂ'lfhr
. Speed of scooter = 30 km/hy

Hence, ratio of speed of cycle
gcooter = 15: 30

15 1
R
{b)-:lkm—-ll]ﬂﬂm

-, 10 km = 10 x 1000 = 10000 m

fo that of

Sm

10000 m

- 1
=1:2000
~ 2000

= 1:2000

Ratio uf_5m£u iﬂkm=

()~ ¥ =100 paise
¥5=>5 X 100 =500 paise
: 50 paise
Hence, Ratio of 50 paise to ¥5= -z

50 paise _ - 1:10
" 500 paise 10

=1:10

% {3.]' PEIEEn{age of3: 4:% % 100% =75%
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(b) PEI‘EE_ntagE of2:3= % % 100% = 66 %%

- Total number of students = 25
Number of good students in mathematics

= 72% of 25 |
= —E—%— w25=18
| y 100 . e
Number of students not good in mathematics
=25-18=7
. Let total number of matches be x
According to question,
40% of total matches =10
= 40% of x =10
40
—xx=10
= o7 X X
10x% 100
= =2b
o =0

Hence, total number of matches are 25.
. Let Chameli had the money in the beginning = I x.

According to question,
x —75% of x =600

x—.?—5~}{x=600
100

3
x——x=600
4
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= xl1-~—=|=600
\ 4)
' - B
=5 4273 = 600
. 4 )
= x = 600 % 4=32400

Hence, the money in the beginning was <2,400.
. Number of people who like cricket = 60%
Number of people who like football = 30%
Number of people who like other games
= 100% — (60% + 30%) = 10%
Total number of people in the city = 50 Lakh
= 50,00,000

Now, number of people who like cricket = 60%

of 50,00,000

60
T —- x50, 00,000=30,00,000

And, number of peuple who hke fﬂﬂtbaﬂ = 30%
of 50,00,000 ;

=10 % 50,00,000=15 00,000

*. Number of people who like other games
=10% of 50,00,000

10
=100 % 50,00,000=5,00,000

“Hence, number of pe :
are 5 lakh. people who like other games
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1. Let original salary be ¥ 100.

Therefore, new salary i.e., 10% increase
=100 + 10 = T110

New salary is ¥ 110, when original salary
=¥ 100
New salary is ¥ 1, when original salary
2528, s 0
110
New salary is ¥ 1,54,000,

When original salary = o X 154000 -

110
=%1,40,000
Hence original salary is 1,40 0gp.
2. On Sunday, people went to the Zgo = 845
On Monday, people went to the Zog = 169
Number of decrease in the people

=845-169 = g7
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676

Decrease per cent = 845 X100= gy

Hence, decrease in the people Visiting th,
on Monday is 80%.
No. of articles = 80 -
Cost price of articles = 2,400
_ And profit = 16%
Let cost price of articles is ¥ 100,
then selling price = 100 + 16 = %116

Cost price of articles is ¥ 1, then

, : _116
Selling price =¥ —
&P 100

. Cost price of articles is ¥ 2400,

then selling price =% % x 2400

=X 2784

Hence, selling price of 80 articles = ¥ 2784

- | ‘ 2784
I'herefore, selling price of 1 article ="§E"

80
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c.p.=%15,500 and repair cost =3 %
tal cost price = 15500 + 45
= 15,950

[ et C.P. be 100, then S5.P. = 100 + 1553,

115 1
then 5.7 =
When CP isI1, 100

4. Here;
Therefore, TO

- When C.P.is 715950, then S.P. = 'f'%g XI5
=318,342.5
: Cost price of VCR = T 8000
and Cost price of TV =% 8000
Total cost price of both articles = I8000+ 380
= 16,000

Now VCRis sold at 4% loss.
Let C.P. of VCR be <100, then S.P. of VCR

: . =100-4=%9%
WhenCPls?lUO then SP = ¥96

: TI""'rh"n"“CP—IS?I;tJhEHSP=-E
100
When C.P. is 38000, then S.P, = 2 g0l
100
=T 7,680
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le en C.P. is T100, then §.p. T

1‘(‘} Y108
2 CP.is%1, then §.p, =298
W 100 ,
s X 8000, th _108
. When C.P.1 en S.P, 50 % 8000
= 38,640
Th on, Total S.P.= ??681]+?864[l =316,320
ince 5.P- = CE,
merefﬂref Profit=S5.P.~C.P. = 16320 - 16009
=¥ 320
- Profit
And Profit% =
Cost Price %100
320
= IEUU{] % 100= 2-%

. Rate of discount on all items =10%
Marked Price of a pair of jeans =¥ 1450
and Marked Price of a shirt =3 850

Discount on a pair of jeans = 10% of ¥ 1430.
B it LT

8.P. of a pair of jeans = Y1450 -T145
= %1305
Marked Price of two shirts =2 x 850 = 1700

Discount on two shirts =10% 0f ¥ 1700
10% 1700 _ %470
g _—= =3

~ 100

* S.P. of two shirts = T1700- _ 7170 = 71530

Therefore, the customer had to pay
_ 1305+ 1530

— 2835
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. 5.P. of each buffalo =320,000
¢.P. of two buffaloes = I20 000 X 2 = 340,000
One buffalo is sold at 5% gain.
Let C.P. be 3100, then S.P. = 100 + 5 = T 105

When S.P. is 105, then C.P.
= <100
100

105

When S.P. is 220,000, then C. P.

100 100, 20000
~105

— 719,047.62

Another buffalo is sold at 10% 10ss:
Let C.P, be 2100, then S.P. = 1001

* When S.P. 15%1 then C.P. =

[}#'?9{]
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* When S.P. is 290, then C.P, = 2100 |

When 5.p. is 71, then C.P. = %

When S.P. is % 20,000, then C.P.
1["]

% 20000
—322,222.22
Total C.P. = 319,047.62 + £22,222.22
= ¥41,269.84

Since C.P, > S.P.
Therefore here it is loss.

Loss = C.P,—S.P, = ¥41,269.84 —740,000.00

= 71,269.84

. S.P.=%13,000 and S.T. rate = 12%

Let C.P. be T100, then S.P. for purchaser
=100+12=%112

. When C.P. is 100, then S.P. = ¥ 112

112 ._
. When C.P. is ¥100, then S.P. = =00 |
- When C.P. is ¥13,000, then 5.P. -

_112 13000=714,560 |
=100 |

= amie

. S.P.=%1,600 and Rate of discount = 20% |

Let M.P. be 100, then S.P. for customer
=100-20=%80

.. When S.P. is ¥ 80, then M.P. =100

100
. When S.P. is ¥ 1, then M.P. s

.. When S.P. is 16,000, then M.P.
IUU x 1600=7% 2,000
9[]
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10. C.P. = 5,400 and Rate of Vate = 8%

Let C.P. without VAT is ¥ 100, then price
including VAT = 100 + 8 = Y108

.- When price including VAT is ¥ 108, then
original price = 100
. When price including VAT is Y1, then original

\ 1{]0
price =108
-. When price including VAT is 5400,

then original price = % x 5400 =3 5000
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